Technical Support Department
Blls' 1.877.BHS.4YOU (1.877.247.4968)  BHS1.com
® M-F 8:00 A.M. - 5:00 PM. CT (GMT-6)

ATC/WTC-24 BOLT-ON CONTAINMENT BAR KIT
P/N: 08412137

QTY  PART# DESCRIPTION

1 08015035 CONTAINMENT BAR

1 08415676 CONTAINMENT BAR MOUNT
1 08415677 CONTAINMENT BAR REST

1 08017088-2 ~ CONTAINMENT BAR STOP

4 HW0402 BOLT-HHCS 3/8-16 X 1"

4 HW0107 WASHER-LOCK-3/8"

4 HW0005 NUT-HEX- 3/8-16

1 HW0408 BOLT-HHCS-3/8-16 X 3 1/4"
1 HW0108 WASHER-FLAT-3/8"-SAE

1 HW0006 NUT-NILN-3/8-16

2 HW1037 RUBBER BUMPER

2 HW0303 BOLT-HHCS-1/4-20 X 1"

2 HW0104 WASHER-FLAT-1/4"-SAE

2 HW0003 NUT-NILN-1/4-20

1 00196222 LABEL-CRUSH HAZARD

1 08412120-i  INSTALLATION INSTRUCTIONS

Specifications subject to change without notice.
©2012-2017 BHS, Inc.

St. Louis, MO. All Rights Reserved.

08/17



